


At
A0 =
fd& - fco dit
g =3
(d@ = fcudt
o~ 0
£=3
5 = fﬁ‘z‘?“ e
0§
0






0.l (4m) " = O‘G(w'lugl
o (“’”1) = 0‘5(601—- 2’5_)
f52
Co = ﬂ"@% W/A

Wy = ;.;2(2,5)

%

= 1g:< éf't//)'-



/

|

|

l§~qg
5 o A
p = dew, =
de

Wq

W,

0

3t

to
fdcu,r :f@t%l)dfc
_ !
fd’cu# = f(?tﬂrz)o{t

5
Gy = [itlﬂrlt]
2z 0

= %(5‘)% 2(3)

So v%@
Y = U,

s A
= @, =



(i

Cog (71'-5)

(F ved
ST




oA sl Mgtion
4 — 4y

\’57\} _4'-4'0(19-@{ A 05 ﬂ?/A,
2 haue

Up—2aC Lovasd O

&

A Jm«uw dS) wath 2l ol e

‘OL%LW@,;(_ v d&

AS = yvdB




l6— 5 |
ds = Ydg
45 = vds
ac dt
d% = Y
At
L = 12 2o
(A = | vad | A er 0083 vad/,
A2 / e




T S

—— e

——— ~ % (0-30)7 + CROTETE

= 2 ep f

e = &

W

q = -—C’L*—%cu)

€ =~ 7 gy
46wk - Ww(//‘/fj
\M%) wﬂmmm_“o:"b(




e

e = Ve (-34a3y % (me?

\ .
hﬂ-oyﬂlﬁ ge‘;““gg )
Z i

| O 2% | |
= ® Ot 36, 29 7 ~=¢-57
Il ARy -
e -




